(%F)

TRIL T

RS [FIEH N EEFBRIS]

e

=
=)

SH7EE
LRV IMNR—ILEERE

F{EBA4.728(8H)

ok N 4 ok B -Ke &

4,26(1) 4,27(RH)
<EIL—R>
- 8
& B=xE
432 3D BB
LEHAQ) 11
— e 15 11:30
KEEZ
ERAD 30
5063 :4&5 1 £0AD
e 9:30
TEEEZ 0 10:00
SANS 4
4K E R ETAD
(EAE— AAE=HE REEE)
B EREE 4
— 13:30
IKPREE 5
<EIL—K>
b — 7
TEEZ EFINE)
55 EELE 2
— 13:30
KEE= 15
LHWBD
p— 1 10:00 53
AL — B
1
508%:68&7 50
. LIABO
J— 9:30 FiR
Eﬂ 5 E AVA 9
w4 s-onmkEl6T 9
<EI—F> 11:30
,.u.f.lmrxl- 24 2ot
EHE K 8 SR TE B
KPE%E
LB

= 12:00




